WBSSC Group C Question Paper 2017

| CSSCC-2017
: ——
feis — 1
RINIERRCC] |
Section, -1 A

| General Knowledge
OB et (b 15 5 o sy | e opgs wfianf|

There are 15 questions in all in this Section. All questions are compulsory.

JPEG @b 29 ¥awIs — JPEG-AF <[l 391 5 7
(A) O oI @I e . (B) TG Tl GHGAR A
(C) ST TWOIANFS @yNb oo (D) - G (AR T4 SCPlEAerler ol |

JPEG is a picture file format — what does JPEG stand for ? |
(A) Joy Prakash Energy Group

(B) Joint Photogi'aphic Extension Group

Q) Joint Photographic Experts Group

(D) Joint Programming for Ecological Goal.

qrsie S % b ST RFe G 2 |
a) TEmeN ® TR -

(C) IAGN (D) e

'Ramsar site' is connected with

(A) Wetland , (B) Grassland

(C) Forestland (D) Valley..

BRI 29 |

@A) e ST a9 (B) TIFHRA R/ I

(C) T@wel @Y (D) fex I T4

The function of hemoglobin is

(A) to transport oxygen ' (B) to destruct bacteria

(C) to prevent anemia - (D)  to utilize energy.
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(A) ST (B)

c) ®IfG (D)

Deficicncy of Vitamin A results in

(A) vnight blindhess | (B)

(C) scurvy (D)

TG A GG ZTER TR ZoT

() 208 (B)

(C) 209 (D)

Number of bones presentvin humanis

(A) - 208 (B)

(C) 209 (D)

DI VL ERCIC) (L R SURCIE Gl

(A)  ©RS (B)

(C) CLICI (D)

Mount Everest is located in

() India (B).

(C)  Nepal (D)

(A) 5ZEHA (B)

© 168 CICHE (D)

Earth Day is celebrated on

(A)  5th June (B)

(C) 16th September- (D)
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(A)  CoMFNE @
(€ (D) G |
Which of the following reserve forests is not located in West Bengal ?
(C)  Sundarban (D)  Chapramari.
Yz
(A) 9 Ty B) @b 7w A%
(C) @I Torefs B D) a% BIET *iwfs |
Jhum is |
(A) afolkdance = - ' ~ (B)  the name of a river
(C) =~ atribe ' " (D)  atype of cultivation.
. BT 9% I A0ET SRR ?
@A) Tgewe. - B ofiFe
(C) TTEE | (D) Tad oo |
Ellora caves are located in the state of. |
(A) Madhya Pradesh (B)  Tamil Nadu
(C)° Maharashtra (D)  Uttar Pradesh.

. IROMRY @ AE

A) 44 6 creICes B) 48 b (oIS

) 46 b cerrCICETN D) 235 @S|

The human cell contains

(A) 44 chromosomes (B) 48 chromosomes
|

(C) 46 chromosomes : (D) 23 chromosomes.

\ S
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(A) X‘ﬁﬁ‘ﬂ' (B) e ?if@ﬁ

) f=me (D) ST |

Alfred Nobel invented

(A)  X-ray ' | (B)  Diesel engine
(0  Dynamite (D) Dynamo. |

13. fo@fam seeeie @ s e

&) ifm (B) vﬂzf-ir‘%m
€ =T D) aifeE |
Victoria falls is located in '

(A)  Russia | ‘ ~ (B) Australia
(C)  Africa | (D) Brazil

14, @ A e S TS Seif, i 21 |
(a) e - @) TRmwES

(C) zBEmew (D) TR TEIHIG |
The gas present in the highest proportion.in air is |
(A) Oxygen (B) Nitrogen

(C). Hydrogen ' (D) - Carbon dioxide.

15. 1. @, & (CNG)7 9 ZT

(A)  FAOIIGG AT S - (B) 3EENS AT sy
(C)  FPTCIRES AN 2T (D) PTG 51T iy |
'CNG' stands for |
(A) - Converted Natural Gas (B)  Conduced Natyra] Gas
(C)  Conducted Natural Gas (D) Compressed Natural Gas,
f360e 503 : 6 of?
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Section - 11
Current Affairs

@8 e it 15 b o @y | et emid war |

There are 15 questions in all in this Section. All questions are compulsory.

SISTSq A I SEIE AT (T (R, B, R, @7 27

(A) ST (B) <

(€) =fgv ST (D) QTCa |

India's maiden nuclear-tipped inter-continental ballistic missile (ICBM) is
(A)  Akash : ' (B)  Prithvi-III
(C)  Agni-V J (D) Brahmos.

TR SRR 3B q2=»Ifoa ST e A0 i A1 s 7

(A)  emfEfeNe | (B)  ZS@M

€ T T D) I

Name of the NASA's spacecraft which is orbiting around Jupiter is
(4) - Galileo | (8) Europa

(€) .Juno - . (D) ' Dawn.

YSIT"T@ 13, 2014%%@316&*@1%@?@ B¥e TR © 5
(A)  WREE B v TR menmﬁ _ ‘
(B) I (OTSEIATG PO — | | o

(©) e sheE |
o) Fra e

On August 13, 2014 Planning Commission was replééed by
(A)  National Institution for Transforming India Aayog
(B) National Development Council

(C) Finance Commission

(D) CAG. ‘
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20.

21.

26 (1 CGFA, 2014 AIET 18-9% 1 A T W0 LW

(A) TR (B) TG
© wem ‘ (D) |
On 26th November, 2014, 18th SAARC summit was held in
(A)  Islamabad | (B) Katmandu
(C) Dhaka ' (D)  Colombo.
S sifFe sRe et 7 fF 2

(A)  gfeee | B) WS

(C) TedNs (D) CSETHA] |
Which Indian state is most recéntly formed ?

(A) = Chhattisgarh "~ (B) Jharkhand
(C)  Uttarakhand ‘ (D) Telengana.

TG (PTG (F (I SR Y& O 2o

(A)  ARE | | - B) ==
€ & o (D) Yo
~ Roger Federer is associated with ‘
(A) Badminton | | (B)  Hockey
(C)  Tennis (D)  Football.

22.

Wﬁﬁmﬂmﬁlﬁﬁ%@?ﬁmwm?

@A) e @@ | (B)  XIRTEAI
(C)  SIRTBRA o (D) I A
Who among the following scientists was associated with the theory of Relativity ?
(A)  Niels Bohr (B)  Heisenberg
(C) - Einstein (D)  Madam Curie.
503 8 of 2
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(A) TAPS] - I (B) FAPMS| - YEA]

(€) el - AP (D) Tl - FETRT |
Maitri Express II will run between |

(A)  Kolkata - Dhaka (B) Kolkata - Khulna

(C) Kolkata - Barisal (D)  Kolkata - Rajshahi.

et At sifde ZER @ A ©f 26

(A) 2011 (B) 2012
(C) 2013 | (D) 2014
The state of Telengana was formed in the year
(A) 2011 , (B) 2012
(C) 2013 ' (D) 2014.
GIATSd GO #7! &
(A)  Fe | (B) IS
c || 4 (D) T
The National Bird of India is
(A)  Eagle - ’ (B) Crow
(C)  Peacock | (D) Ibis.

I, SIS (el 2014 T NS SIS FHC GAS A0 ?

(A)  TECGR SACET (B) G SIGE A ST
(C)  ConsAIe JRTHTIR (D)  WHACNRA ST
Which national leader received Bharat Ratna Award posthumously in the year 2014 ?
(A)  Vallabhbhai Patel ~ (B) Moulana Abul Kalam Azad
(C)  Gopinath Bardoloi . (D) Madahn Mohan Malaviya.
503 | | 9 pfig0
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27, COAD GO WINIPRON AT 14 408 BTATY ?

(A) b @R B) oA
(C)  @RIEY D) @Il

- Which will be country's 13th major port ?
(A)  Port Blair | (B)  Paradwip
(€)  Enayem (D) * Kochi.

28.  WRMNY S FINB TE

(A) RO wE B) AN R

(C) =RA5F (D)  FEWGH GLGINLIT |

The author 61’ the novel Ananda Math is

(A) Madhusudan Datta (B) Swami Vivekananda

(C)  Nabin Chandra Sen ' (D) Bankim Chandra Chattopadhyay.

29. WY W (P P MM RONT TLHY AT I 2

(A) S @A @, - (B) TG

(C) o R | (D). STERETE

Which of the following countries celebrates Christmas festival in summer season ?
(A) USA. | (B) Canada

(C)  Great Britain (D)  Australia.

30. WREMICS] RSTREN (¢ SIRER FE 2

() o e (B) RN TR
(C) ST IS D) RREm
Who discovered ti’le ruins of Mohenjodaro ?
(A) John Marshall | (B)  Dayaram Sahanj
(C)  Rakhaldas Banerjee (D)  B.B. Lal.
[360e | 503
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There are 15 questions in all in this Séction. All questions are compulsory.

31.  One or two stars were still ...... AR in the sky.
(A) burning ‘ B .
(C) twinkling . (D) tinkling.

The boys who wanted to play football were dlsappomted when it ramed
The above sentence is a

(A) complex sentence ; (B) compound sentence
(C) simple sentence (D) ° mixed sentence.

33 I will try to be on time but do not worry when I am late.
) (a) (b) (c) (d)

Which part in the above sentence has an error ?

A a - (B) b
€ c - (D) d.
34.  "Oris it some humble lay

Familiar matter of today ?"

In the above lines the word 'humble' means

(A)  weak ' (B)  cowardly
(C)  insignificant - (D) meek.

n ?

35. Pick out the correct sentence : _ .

(A) To be intelligent is more essential than being hard-working

(B) Being intelligent is more important than to be hard-working !
(©) For one to be intelligent is more important than being hard-working
(D) Being intelligent is more essential than being hard-working.

Another baffling change . that I notice in him nowadays is that he '
(a) (b) (c)

avoids to speak to me.

(d) .
Which part in the above sentence has an error ?
A) .a - e B) b
€ O d.
) of 200 360e ' ~ [s03 | KL ORZ9
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37.  Write an abstract of this ¢ssay.
The underlined word means

(A) summary . (B) title
(C) plan ‘ - (D) conclusion.
38. "Would you mind moving the car ?"
‘The above sentence is a
(A)  query ' (B) polite request
(C)  an advice (D)  asuggestion,
39. I cannot understand what is written here.'
Choose the correct phrasal verb to replace the underlined word in the above sentence
© (A) hold on ' (B) give out
(C) make out - ; "~ (D) give away.
40. Rahim's doctor advised him £0 vooererereanne. as a cure for his sore throat.
(A)  babble (B) gargle
(C) giggle (D)  gurgle. | )
41. Pick out the cofrcct sentence :

(A) Bhupen do not know the way (B) Bhupen do not knows the way
(C) Bhupen did not knows the way (D). Bhupen does not know the way.

42. What iz the e ..oeeonee your watch ?
(A) in ' - (B) by
(@) on _ (D) at.

43. A group of elephants is called a
(A) collection ' (B) herd
(C) .school _ (D) litter.

44, "I regret to inform you that ........
The above would be the beginning of a letter conveying
(A)  sad news -~ (B) a denial
(C) an acceptance : ) (D) anem ergency.

' 45. Pick out the antonym of the word ‘trivial'.

(A) important (B) insignificant
(C) futile (D) .fas't.
f360e ' | 503
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There are 15 questions in all in this Section. All questions are compulsory.

500 DR T 40% BTG @32 500 BIGIA So[F 79— 36% {92 4% BTG 14 o

A) 2% " (B) 7.-20T:?WST
() oTR - (D) . 18T/

The difference of 40% discount on Rs. 500 and sucsessive discounts of 36% and 4%
on Rs. 500 is '

(A)  Rs.2 ot (s) Rs. 720
(€) Re. O , = (D) Rs. 18

1000 5 TEI TR TTS 16 & f¥em= 271%??111611‘ w8 16 G T 2@ @ 9o
ﬂ\wwwﬁw

......................... ERRIDIC -
a)  3f h o, . B 7
© 2f= - _ (D) <4ﬁ—»{'

16 machines take 27 days to make 1000 parts. If 2 more machmes are installed, to
make same number of parts number of days reduced by

(A) 3 days - (B) 7 days
(C) 2 days : : - (D) 4‘days

ohsﬁﬂ@amwwm%mr@m9m,6m@w,4mm, 10 (ItF~0 AR 8 CIF©

FRafoTs Arert | el G AERE 1 (ATF OF O Gl T G A6 ?

@) 119w - B) 8
© 123 D) 93W
f360e 503 ' 13 of 20
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After ringing together 5 bells begin to ring at intervals of 9 secs, 6 S€s; 4 secs, 10 se‘

and 8 secs respectively. How many times the bells will ring together in one hOI
starting from first time ringing together ?

(A) 11 times : (B) 8 times

() 12 times | /(D) 9 times

49,

aﬁ%ﬂ:ﬁﬁ@mm,zodﬁm 5 N[7E & @98 B 750 OIdl 4 W S G trﬁ%a |

- AT 450 B! A1© 29 O@ A8 B-A3 A1) FA9d HTo

(A) 3:2 - . B) 5:3

L0 2:1 . (D) 4:3

50.

In a partnership business A contributes Rs. 1,200 for 5 months and B Rs. 750 fn
4 months. If there is a profit of Rs. 450, then ratio of the profit of A and Bis

A) 3:2 o " (B) 5:3 o |
© 2:1 D) 4:3 | ‘

1-7, 0-51 @3] 0-153 77247 fenfog o173,

&) 017 B 17 )
(C) 0017 o (D) 00017
The H.C.F. of the three numbers 1:7, 0-51.and 0-153 is
(A) - 017 ' | - B) 17
() 0017 - "~ (D) 00017

51.

f360e

14 o @ 12 fie @ BEaewa T oi@| W 8 e Hovenh e 28 @
e o FoeH EF =A5TE 7 . |

@ ow B 7oA
(€) '3W (D) 6%9 |

14 persons can sink a tubewell in 12 days. How many extra persons are relSiired
sink the tubewell in 8 days ? '

(A) 9 persons (B) 7 persons
(C) 3 persons (D) 6 persons -
. 503 |
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b G oA AR 10%, 20% G- 30% FIOGA TGN TG 2
() 454% . (B)  496%
(C)  527% o (D)  582%

The successive discounts of 10%, 20% and 30% on an article is equivalent to the

discount of
(A)  454% _ (B) 496%
€ 527% | (D)  582%

@@l TR TP 620 B @ b1 AR (AT 25% | G0 7 15% TS [ w0

T O@ ST G 3@

A) - 12%% | . (B) ‘13%%
(©) .11%% | (D) 14%%

Cost price of an ‘a..rticle is Rs. 620 and it is 25% below the marked price. If the article

is sold at a discount of 15%, the percentage of f)foﬁt is

(A) 12%%‘ o (B) 13%%
)  111% ) 142%

3 3

o-a41§i-a§wwﬁ¢ﬁwwﬁwmtwmwm TS FAET 2 @ TR AILF
s

A 29 (B) 87

€ 67 | (D) 13

'If the recurring decimal 0-84181 be written as a fraction in its lowest terms, the
difference bctween the denominator and the numerator is '

(A) 29 , (B) 87

(C) 67 (D) 13

15 of 20
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55. FeiS s casres 2_%| o 95 @ (xb ST TS 7 : 6 | AN eIl o
AT B e L A 2w o wane Foifb 7
£ 37 7 2 3 .
Ay L2 T S
W 81009 B 9735
3 4 2 7 5 3
(C) e e e [D) el et e
5°7°3 8764 58.
'Sum'of three fractions is 2%. If the ratio of the largest and the smallest fraction
is 7 : 6 and this-ratio-is L more than the midd-le fraction, then the fractions are
7 3 7 723
& 8109 B 535
‘ 34 2 a 7 5 3
(C) ’ 57793‘ [D) 8)6,4
. _ S59.
56. Ol WMOCHEd () 15% ISE @R &F 15% FAE, CFaTET oddl AR 2@
(A) %% I (B) 2—3—% 20
4, 1o
(C) g/oqf%i (D) 2% 3
If length of a rectangle increases by 15% and breadth decreases by 15%, therz
percentage change in area is 1
(A) 3 o4 increase (_.B) 2% % decrease* 60.
g 4 . . ) D ; 1 o
(C) =9 increase (D) 21-/0 decrease
57 «fs 70 fbr = @7 O 75 N QT 105 [ w1 @3l S o 2re Iy @R
a  alo ® 82a '
( 5 : 5
| 2 D 1
© 530 o 3l
;'e
[360€ 6 of2) 1360
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Time taken by a train 70 metres long to Cross a bridge of length }05 metres with a

speed of 75 kmph is

2
(A) 4% sec : (B) 8—5- sec
(C) 5% sec _ (D) 3?];: sec

@W'TE ﬂﬁ\*IﬂFﬁS 6,7, SGQ\QW_WW‘IW4 B, 6, 7 @3R 8 OIICT UFPWH ?

(A) 2519 , (B) 5039

(C) 1079 o (D) 979 ,

Which smallest number leaves remainders 4, 5, 6,77 and 8 respectively when divided
by 5,6 ,7, 8 and 9 ? - | ‘ )
(A) 2519 (B) 5039

(C) 1079 - (D) : 979

afg asih q9fS 10%%?‘@%252@1111%@%@ mﬁmaﬁwﬁﬁ'ﬁwws%m@

7o | qefa ewEm.
(A) 290 1% HEC (B) 300 51
© 3s0%® . (D) 2705

. Hari sold a watch at a loss of 10% If he would sell it at Rs. 54 more he would have a

profit of 8%, the sell pnce of the watch is
(A) Rs. 200 (B) Rs. 300
(C) Rs.350 (D) Rs.270

(4105 x (0-5)% x 2% -a% T =

(A) % B 1
(C) | 2 (D) %
Value of (4)°% x(0:5)* x2* is '
O | B 1 |
© 2 o 1
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